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Unit 9 Review Sheet (Quadrilaterals)

Fill in the following special properties for each quadrilateral:

1. Properties of a Parallelogram:

* Orprosite scdes are ||
L4 OPPO‘3”'C sides 4re =
* Opposite tngles are =
* Diagonals bestet ench other

®* Consecntive angles gre SuPPIemen+ar.j

2. Properties of a Rectangle:
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3. Properties of a Rhombus:
* Has all the properties of a Paratlelog ram
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4. Properties of a Square:
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3. Properties of a Trapezoid:
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6. Properties of an Isosceles Trapezoid:
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7. Ways to prove a quadrilateral is a Paralle logram:
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8. Ways to prove a quadrilateral is a Rectangle:

9. Ways to prove a quadrilateral is a Rhombus:

10. Ways to prove a quadrilateral is a Square:

Practice Problems:

Are you given enough information to determine whether the
quadrilateral is a parallelogram? Explain.
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What value of x and y will make the polygon a parallelogram?
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Each figure is a parallelogram. Identify the special type and explain
your reasoning.
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Find the value of x.
MNQOP is a sguare.

DEFG is a thombus. WXYZ is a rectangle.
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8. MNPQ is a rnombus. Find the measure of 9, GHJK is a rhombus, with @ = 42. Find
each angle. the Jength of each segment.
M (0] H
58
40/ LN\ U2z
K J
ms1 32 manmg _ ' ° cH_>°% CHI__%¢
msMNP __ 110 ms2 55 2 P ¢ . Ly _40
mZ3 V9 msa __90 gy __¥°

10. ABCD is a thombus, Find each angle measure or segment lengih.

mZl 6o m<ZDAB éo -
mL2 3o m&L3 90
meh L0 ap ___ L6

Bp L6 ep___ 2




ABCD is a rectangle, with AC = 18. Find each length or angle measure. A
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GHKL is a rectangle (not a square). Answer with true or false G - -+
20. GHKL and its diagonals form four congruent triangles. F 1 >
21. GHKL and its diagonals form four isosceles iriangles. | 3 M
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27. Fill in the following chart given the following information about the below parallelogram. EF = 9,
MAEFG =70, JF = 7.
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Fill in all the numbered angles with the appropriate angle measures.
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Trapezoid Practice!

1. In Trapezoid CDEF below, the measure of base DE = 12 and the measure of base CF = 24. If the trapezoid has an
altitude of 8, what is the measure of CD? Hint: you are going to need to use the Pythagorean Theorem.
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3. What is the missing angle measure? What is the measure of Angle E?
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4. If the measure of Angle ABD = 75 and the measure of Angle CBD = 40, what is the measure of the following:
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